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1. (A)       .   14 

 
     ,      .  
 (B)        4 

  (1)           
 ? 

   (a)  (b)  (c)  (d)  
  (2)       ? 

   (a)    (b)   
   (c)    (d)   
  (3)         _______  .  
   (a)  (b)  (c)  (d)  
  (4)      ? 

   (a)   (b)     

   (c)     (d)     
   

2. (A)    ,      .  14 
 

           .  
 (B)        4 
  (1)         _______ .  
   (a)   (b)  (c)  (d)  
  (2)            ______ 

  .  
   (a)   (b)   

   (c)    (d)    
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  (3) .        ? 

   (a)    (b)   
   (c)   (d)   

  (4)          ? 

   (a)      (b)     
   (c)      (d)     
 

3. (A)      .  14 
 

        ,   .  
 (B)        3 
  (1)     _______  .  
   (a)   (b)  (c)  (d)  

  (2)          ? 

   (a)  (b)   (c)   (d)  

  (3)   ` 12   ` 20     30   20   
.    ________ . 

   (a) 0.5 (b) 0.8 (c) 1.0 (d) 1.2 
   

4. (A)      .  14 
 

       .  
 (B)        3 
  (1)     ________  .  
   (a)  (b)  

   (c)  (d)    

  (2)        ? 

   (a)  (b)    
   (c)  (d)    

  (3)          _______  .  
   (a)  (b)  (c)   (d)  

____________ 
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1. (A) Explain the theory of diminishing marginal utility with its limitations. 14 
OR 

  Give the meaning of indifference curve. Explain the characteristics of indifference 
curve with the help of a diagram. 

 (B) Choose correct answer from the following options.   4 
  (1) Which economist showed law of demand with the help of diminishing 

marginal utility ? 
   (a) Hicks (b) Marshall (c) Gossen (d) Pigou 
  (2) Which type of curve does the marginal utility have ? 
   (a) Parallel to horizontal axis (b) Positive slope 
   (c) Parallel to vertical axis (d) Negative slope 
  (3) If total utility is maximum then marginal utility is ________. 
   (a) Positive (b) Negative (c) Zero (d) Increasing 
  (4) What does the budget line slope indicate ? 
   (a) Multiplication of price  
   (b) Multiplication of income and cost 
   (c) Exchange rate of two goods 
   (d) Multiplication of price and consumption 
 
2. (A) Give a meaning of income effect. Explain type of income effect with the help of 

diagrams.        14 
OR 

  Explain concepts of marginal substitution rate and Giffen goods with the help of 
diagram. 

 (B) Choose correct answer from the following options.   4 
  (1) ________ is the name of the economist who gave explanation of the law of 

demand with the help of indifference curve. 
   (a) Hicks (b) Marshall (c) Gossen (d) Pigou 
  (2) When there is a fix income but there is a change in price leading to changes 

in consumer equilibrium it is called ________. 
   (a) Demand effect  (b) Income effect 
   (c) Price effect   (d) Substitution effect 
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  (3) Which type of goods demand was Marshall not able to explain ? 

   (a) Inferior goods  (b) Normal goods 

   (c) Necessary goods  (d) Luxurious goods 

  (4) In case of consumer equilibrium which two lines touch mutually ? 

   (a) Indifference curve and budget line 

   (b) Budget line and price line 

   (c) Indifference curve and saturation curve 

   (d) Indifference curve and demand curve 

 

3. (A) Describe the factors affecting price elasticity of demand.   14 

OR 
  Explain the income elasticity of demand with the help of an example, explain its 

importance.     

 (B) Choose correct answer from the following options.   3 

  (1) The price elasticity of demand of luxuries goods is ________. 

   (a) Zero (b) Unit elastic (c) Elastic (d) Inelastic 

  (2) Which type of income elasticity of demand is seen for Giffen goods ? 

   (a) Negative (b) Zero (c) Infinitive (d) Positive 

  (3) When the price increases from ` 12 to ` 20, then demand decreases from 30 
units to 20 units. So price elasticity of demand is ________. 

   (a) 0.5 (b) 0.8 (c) 1.0 (d) 1.2 

 

4. (A) Explain the law of variable proportions with the help of diagram.  14 

OR 
  Explain the advantages and disadvantages of firm development. 

 (B) Choose correct answer from the following options.   3 

  (1) All the tools of production are ________ in the long run. 

   (a) Fixed   (b) Variable  

   (c) Permanent   (d) None of the above 

  (2) The law of declining production is the law for which time duration ? 

   (a) Long term   (b) Term of ten years 

   (c) Short term    (d) None of the above 

  (3) If all the tools are increased at the same time, then marginal compensation 
at the beginning is ________. 

   (a) Increase (b) Decrease (c) Zero (d) fixed 
____________ 
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1. (A)      ,  .    14 

 
       .   
 (B)          4 

  (1)       .  
  (2)         .  
  (3)     .  
  (4)      .  
 
2. (A)   ,   .    14 

 
        .   
 (B)          4 

  (1)     .  
  (2)       .  
  (3)      .  
  (4)        .  
 
3. (A)               

 .    14 

 
          .   
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 (B)          3 

  (1)       .  
  (2)    ‘U’   .  
  (3)        =  .  
 

4. (A)     ?       ?   14 

 

         ,      
.   

 (B)          3 

  (1)       .  
  (2)        .  
  (3)         .  

________ 
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1. (A) Explain the definition of economics given by Robbins with its limitations. 14 

             OR 
  Explain the concept of consumer surplus given by Marshall. 

 (B) State whether the following statements are True or False.   4 

  (1) There is a correlation between demand and price. 

  (2) Robbins presented economics as a positive science. 

  (3) Demand of cement is derived demand. 

  (4) In economics, study of individual demand is important.  
 

2. (A) Explain the law of demand and their exception. 14 

OR 

  Explain the meaning and types of elasticity of demand. 

 (B) State whether the following statements are True or False :  4 

  (1) Utility means not only joy. 

  (2) Sale of a commodity is same as supply of commodity. 

  (3) Mental ability is a wealth. 

  (4) In Griffen goods, income elasticity is negative. 
 

3. (A) Explain the concept of average cost and marginal cost with a figure and clarify 
their relationship. 14 

OR 
  Explain the meaning of Iso-quant curve and characterisitics (any two) of          

Iso-quant curve. 
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 (B) State whether the following statements are True or False : 3 

  (1) Two Iso-quants curves never be intersect each other.  

  (2) Average cost curve has ‘U’ shape.  

  (3) Total production cost  Production unit = Average cost  

 

4. (A) What is price discrimination ? When is it possible and profitable ? 14 

OR 

  Explain the difference between selling cost and production cost. Explain the 
effects of selling cost on demand curve. 

 (B) State whether the following statements are True or False : 3 

  (1) In oligopoly, the number of firms are large.  

  (2) In perfect competition, there are unlimited number of firms.  
  (3) In monopoly, firm has highest control on price. 

__________ 
 
 
    


